

Estimation of Green function of a spectral problem with quasi-regular boundary condition

Y.A.Mammadov · S.T.Aleskerova

Received: 14.04.2015 / Accepted: 20.11.2015

Abstract. *In the paper, we consider a general boundary condition problem for a fourth order, λ complex parameter dependent ordinary differential equation. The asymptotics of eigennumbers of the problem under consideration was constructed within the quasi-regular boundary condition. For the Green function of the appropriate spectral problem the estimation was found at large values of $|\lambda|$.*

Keywords. fundamental solutions, asymptotics, boundary value problem, boundary conditions, sector, characteristic determinant.

Mathematics Subject Classification (2010): 47S05 · MSC 35K05

1 Introduction

In the paper we consider the following problem:

$$p_1 p_2 y^{IV} - (p_1 + p_2) \lambda^2 y'' + \lambda^4 y - b(x) y'' - a(x) \lambda^2 y = f(x, \lambda), \quad 0 < x < 1, \quad (1.1)$$

$$\begin{aligned} L_1(y) &\equiv \sum_{k=1}^4 \alpha_{1k} y^{(k-1)}(x, \lambda) |_{x=0+} + \sum_{k=1}^4 \beta_{1k} y^{(k-1)}(x, \lambda) |_{x=1} = 0 \\ L_2(y) &\equiv \sum_{k=1}^4 \alpha_{2k} y^{(k-1)}(x, \lambda) |_{x=0+} + \sum_{k=1}^4 \beta_{2k} y^{(k-1)}(x, \lambda) |_{x=1} = 0 \\ L_3(y) &\equiv \sum_{k=1}^4 \alpha_{3k} y^{(k-1)}(x, \lambda) |_{x=0+} + \sum_{k=1}^4 \beta_{3k} y^{(k-1)}(x, \lambda) |_{x=1} = 0 \\ L_4(y) &\equiv \sum_{k=1}^4 \alpha_{4k} y^{(k-1)}(x, \lambda) |_{x=0+} + \sum_{k=1}^4 \beta_{4k} y^{(k-1)}(x, \lambda) |_{x=1} = 0 \quad , \end{aligned} \quad (1.2)$$

where $a(x)$, $b(x)$ are complex valued functions, p_1, p_2 , α_{ij} , β_{ij} ($i, j = \overline{1, 4}$) are complex numbers and the conditions $Re p_1 > 0$, $Re p_2 > 0$ are satisfied.

Y.A.Mammadov
Azerbaijan State Pedagogical University
E-mail: vagif@guliyev.com

S.T.Aleskerova
Azerbaijan State Pedagogical University
E-mail: sabina.alesgerova75@gmail.com

For constructing the asymptotics of fundamental solutions of equation (1) we divide the λ - complex plane into eight sectors in the following way [1].

$$S_1 = \{ \lambda | \lambda_2 > k_1 \lambda_1; \lambda_2 < k_4 \lambda_1 \},$$

$$S_2 = \{ \lambda | \lambda_2 > k_4 \lambda_1; \lambda_2 < k_3 \lambda_1 \},$$

$$S_3 = \{ \lambda | \lambda_2 > k_3 \lambda_1; \lambda_2 < k_2 \lambda_1 \},$$

$$S_4 = \{ \lambda | \lambda_2 > k_1 \lambda_1; \lambda_2 < k_2 \lambda_1 \},$$

$$S_5 = \{ \lambda | \lambda_2 > k_1 \lambda_1; \lambda_2 < k_4 \lambda_1 \},$$

$$S_6 = \{ \lambda | \lambda_2 > k_4 \lambda_1; \lambda_2 < k_3 \lambda_1 \},$$

$$S_7 = \{ \lambda | \lambda_2 > k_3 \lambda_1; \lambda_2 < k_2 \lambda_1 \},$$

$$S_8 = \{ \lambda | \lambda_2 > k_1 \lambda_1; \lambda_2 < k_2 \lambda_1 \},$$

where

$$k_1 = \frac{\cos \psi_1}{\sin \psi_1}; \quad k_2 = \frac{|\omega_3| \cos \psi_3 - |\omega_1| \cos \psi_1}{|\omega_3| \sin \psi_3 - |\omega_1| \sin \psi_1};$$

$$k_3 = \frac{\cos \psi_3}{\sin \psi_3}; \quad k_4 = \frac{|\omega_1| \cos \psi_1 + |\omega_3| \cos \psi_3}{|\omega_1| \sin \psi_1 + |\omega_3| \sin \psi_3};$$

$$\omega_1 = |\omega_1| e^{\psi_1 i}; \quad \omega_2 = -\omega_1; \quad \omega_3 = |\omega_3| e^{\psi_3 i}; \quad \omega_4 = -\omega_3;$$

$$|\omega_1| = |p_1|^{-\frac{1}{2}}; \quad |\omega_3| = |p_3|^{-\frac{1}{2}};$$

$$\psi_k = -\frac{1}{2} \operatorname{arctg} \frac{\operatorname{Im} p_k}{\operatorname{Re} p_k}, \quad k = 1, 2.$$

Here we assume that the following inequalities are valid: $0 < \psi_3 < \psi_1 < \frac{\pi}{4}$, $|\omega_3| \sin \psi_3 - |\omega_1| \sin \psi_1 > 0$.

For finding the asymptotics of fundamental solutions of equation (1) we give the following theorem ([4]).

Theorem 1.1 When $a(x), b(x) \in C^1 [0, 1]$, $\operatorname{Re} p_1 > 0$, $\operatorname{Re} p_2 > 0$, are satisfied, at each sector S_p ($p = \overline{1, 8}$) the asymptotics of fundamental solutions of equation (1) is as follows:

$$\frac{d^k y_m(x, \lambda)}{dx^k} = (\lambda \omega_m)^k \left[1 + \frac{1}{\lambda} y_{mk}^1(x) + \frac{1}{\lambda^2} y_{mk}^2(x) + \frac{E_{mk}(x, \lambda)}{\lambda^3} \right] \exp [\lambda \omega_m x],$$

$$m = \overline{1, 4}; \quad k = \overline{0, 3},$$

where

$$y_{mk}^1(x) = \frac{1}{4q\omega_m^3 + 2p\omega_m} \left[\int_0^x a(\xi) d\xi + \omega_m^2 \int_0^x b(\xi) d\xi \right],$$

$$y_{mk}^2(x) = \frac{k}{\omega_k} \frac{dy_{mk}^1(x)}{dx} + \frac{1}{4q\omega_m^3 + 2p\omega_m} \left[\int_0^x a(\eta) + \omega_m^2 b(\eta) \right] y_{mk}^1(\eta) d\eta$$

$$- \frac{6q\omega_m^2 + p}{4q\omega_m^3 + 2p\omega_m} \frac{dy_{mk}^1(x)}{dx},$$

$$q = p_1 p_2, \quad p = -p_1 - p_2.$$

The functions $E_{mk}(x, \lambda)$ ($m = \overline{1, 4}; k = \overline{0, 3}$) are analytic and at large values of $|\lambda|$ are bounded.

By means of the Green formula, the solution of the spectral problem is found as follows [2].

$$y(x, \lambda) = \int_0^1 G(x, \xi, \lambda) f(\xi, \lambda) d\xi,$$

where $G(x, \xi, \lambda)$ is the Green function of problem (1), (2) and is determined in the following way:

$$G(x, \xi, \lambda) = \frac{\Delta(x, \xi, \lambda)}{\Delta(\lambda)}, \quad \lambda \in S_p \quad (p = 1, 8),$$

where

$$\Delta(\lambda) = \begin{vmatrix} L_1(y_1(x, \lambda)) & L_1(y_2(x, \lambda)) & L_1(y_3(x, \lambda)) & L_1(y_4(x, \lambda)) \\ L_2(y_1(x, \lambda)) & L_2(y_2(x, \lambda)) & L_2(y_3(x, \lambda)) & L_2(y_4(x, \lambda)) \\ L_3(y_1(x, \lambda)) & L_3(y_2(x, \lambda)) & L_3(y_3(x, \lambda)) & L_3(y_4(x, \lambda)) \\ L_4(y_1(x, \lambda)) & L_4(y_2(x, \lambda)) & L_4(y_3(x, \lambda)) & L_4(y_4(x, \lambda)) \end{vmatrix},$$

$$\Delta(x, \xi, \lambda) = \begin{vmatrix} g(x, \xi, \lambda) & y_1(x, \lambda) & y_2(x, \lambda) & y_4(x, \lambda) & y_5(x, \lambda) \\ L_1(g)_x & L_1(y_1(x, \lambda)) & L_1(y_2(x, \lambda)) & L_1(y_3(x, \lambda)) & L_1(y_4(x, \lambda)) \\ L_2(g)_x & L_2(y_1(x, \lambda)) & L_2(y_2(x, \lambda)) & L_2(y_3(x, \lambda)) & L_2(y_4(x, \lambda)) \\ L_3(g)_x & L_3(y_1(x, \lambda)) & L_3(y_2(x, \lambda)) & L_3(y_3(x, \lambda)) & L_3(y_4(x, \lambda)) \\ L_4(g)_x & L_4(y_1(x, \lambda)) & L_4(y_2(x, \lambda)) & L_4(y_3(x, \lambda)) & L_4(y_4(x, \lambda)) \end{vmatrix},$$

$$g(x, \xi, \lambda) = \pm \sum_{k=1}^4 \frac{V_{4k}(\xi, \lambda)}{V(\xi, \lambda)} y_k(x, \lambda).$$

The function $g(x, \xi, \lambda)$ is taken "+" for $0 \leq \xi \leq x \leq 1$, and is taken "-" for $0 \leq x \leq \xi \leq 1$.

The function $V(\xi, \lambda)$ is the Wronskian determinant composed of the function $y_1(\xi, \lambda)$, $y_2(\xi, \lambda)$, $y_3(\xi, \lambda)$ and $y_4(\xi, \lambda)$. The function $V_{4k}(\xi, \lambda)$ is the cofactor of the $(4, k)$ element of the determinant $V(\xi, \lambda)$.

For choosing the principal part of the characteristic determinant $\Delta(\lambda)$ in the half-plane $Re\lambda \geq 0$ we give the following two semi-strips

$$\begin{aligned} \Pi_1(\lambda) &= \{ \lambda = \lambda_1 + i\lambda_2 \mid -\delta < \lambda_2 - \lambda_1 k_1 < \delta, \lambda_1 > R, \delta > 0, R > 0 \} \\ \Pi_2(\lambda) &= \{ \lambda = \lambda_1 + i\lambda_2 \mid -\delta < \lambda_2 - \lambda_1 k_3 < \delta, \lambda_1 > R, \delta > 0, R > 0 \}. \end{aligned}$$

In the semi-strips $\Pi_1(\lambda)$ and $\Pi_2(\lambda)$ we denote the principal part of the determinant $\Delta(\lambda)$ by $\Delta_1(\lambda)$ and $\Delta_2(\lambda)$, respectively.

$$\begin{aligned} \Delta_1(\lambda) &= D_{14}(\lambda)e^{\lambda(\omega_1+\omega_4)} + D_{24}(\lambda)e^{\lambda(\omega_2+\omega_4)} + D_4(\lambda)e^{\lambda\omega_4} \\ \Delta_2(\lambda) &= D_{13}(\lambda)e^{\lambda(\omega_1+\omega_3)\lambda} + D_{14}(\lambda)e^{(\omega_1+\omega_4)} + D_1(\lambda)e^{\omega_1\lambda} \end{aligned},$$

where

$$\begin{aligned} D_{14}(\lambda) &= d_{14}^{10}\lambda^{10} + d_{14}^9\lambda^9 + d_{14}^8\lambda^8 + O(\lambda^7) \\ D_{24}(\lambda) &= d_{24}^{10}\lambda^{10} + d_{24}^9\lambda^9 + d_{24}^8\lambda^8 + O(\lambda^7) \\ D_{13}(\lambda) &= d_{13}^{10}\lambda^{10} + d_{13}^9\lambda^9 + d_{13}^8\lambda^8 + O(\lambda^7) \\ D_1(\lambda) &= d_1^9\lambda^9 + d_1^8\lambda^8 + d_1^7\lambda^7 + O(\lambda^6) \\ D_4(\lambda) &= d_4^9\lambda^9 + d_4^8\lambda^8 + d_4^7\lambda^7 + O(\lambda^6). \end{aligned}$$

For finding the asymptotics of eigennumbers of the spectral problem we accept the following denotation

$$L(\gamma_n^1, \gamma_m^2, \gamma_p^3, \gamma_q^4) = \begin{vmatrix} \gamma_{1n}^1 & \gamma_{1m}^2 & \gamma_{1p}^3 & \gamma_{1q}^4 \\ \gamma_{2n}^1 & \gamma_{2m}^2 & \gamma_{2p}^3 & \gamma_{2q}^4 \\ \gamma_{3n}^1 & \gamma_{3m}^2 & \gamma_{3p}^3 & \gamma_{3q}^4 \\ \gamma_{4n}^1 & \gamma_{4m}^2 & \gamma_{4p}^3 & \gamma_{4q}^4 \end{vmatrix},$$

$$d_1^9 = 2 \left(\omega_1^6 \omega_3^3 - \omega_1^4 \omega_3^5 \right) (L(\alpha_2, \alpha_3, \alpha_4, \beta_4) + L(\alpha_4, \beta_2, \beta_3, \beta_4)),$$

$$d_4^9 = 2 \left(\omega_1^5 \omega_3^4 - \omega_1^3 \omega_3^6 \right) (L(\alpha_2, \alpha_3, \alpha_4, \beta_4) + L(\alpha_4, \beta_2, \beta_3, \beta_4)),$$

$$\begin{aligned}
d_1^8 &= 2 [\omega_1^3 \omega_3^5 - \omega_1^5 \omega_3^3] [L(\alpha_1, \alpha_3, \alpha_4, \beta_4) - L(\alpha_2, \alpha_3, \alpha_4, \beta_3) - L(\alpha_4, \beta_1, \beta_3, \beta_4) \\
&\quad + L(\alpha_3, \beta_2, \beta_3, \beta_4)] + 2 (\omega_1^6 \omega_3^3 - \omega_1^4 \omega_3^5) y_{13}^1(1) L(\alpha_2, \alpha_3, \alpha_4, \beta_4) \\
&\quad + [2\omega_1^6 \omega_3^3 y_{13}^1(1) - 2\omega_1^4 \omega_3^5 y_{11}^1(1) + (\omega_1^6 \omega_3^3 - \omega_1^4 \omega_3^5) (y_{42}^1(1) + y_{32}^1(1)) \\
&\quad + (\omega_1^6 \omega_3^3 + \omega_1^5 \omega_3^4) y_{31}^1(1) + (\omega_1^6 \omega_3^3 - \omega_1^5 \omega_3^4) y_{41}^1(1) \\
&\quad + (\omega_1^5 \omega_3^4 - \omega_1^4 \omega_3^5) y_{43}^1(1) + (-\omega_1^4 \omega_3^5 - \omega_1^5 \omega_3^4) y_{33}^1(1)] L(\alpha_4, \beta_2, \beta_3, \beta_4)
\end{aligned}$$

$$\begin{aligned}
d_4^8 &= 2 (\omega_1^5 \omega_3^3 - \omega_1^3 \omega_3^5) (L(\alpha_1, \alpha_3, \alpha_4, \beta_4) - L(\alpha_2, \alpha_3, \alpha_4, \beta_3) + L(\alpha_3, \beta_2, \beta_3, \beta_4) - L(\alpha_4, \beta_1, \beta_3, \beta_4)) \\
&\quad + 2\omega_1^3 \omega_3^6 y_{43}^1(1) + (-\omega_1^3 \omega_3^6 - \omega_1^4 \omega_3^5) (y_{11}^1(1) + y_{21}^1(1)) + (-\omega_1^3 \omega_3^6 + \omega_1^5 \omega_3^4) (y_{22}^1(1) \\
&\quad + y_{12}^1(1)) + (\omega_1^4 \omega_3^5 + \omega_1^5 \omega_3^4) y_{23}^1(1) + (-\omega_1^4 \omega_3^5 + \omega_1^5 \omega_3^4) y_{13}^1(1)] L(\alpha_4, \beta_2, \beta_3, \beta_4),
\end{aligned}$$

$$\begin{aligned}
d_{13}^8 &= (\omega_1^2 \omega_3^6 - \omega_1^3 \omega_3^5 - \omega_1^5 \omega_3^3 + \omega_1^6 \omega_3^2) (L(\alpha_3, \alpha_4, \beta_1, \beta_4) + L(\alpha_1, \alpha_4, \beta_3, \beta_4)) \\
&\quad + (\omega_1^3 \omega_3^5 - 2\omega_1^4 \omega_3^4 + \omega_1^5 \omega_3^3) (L(\alpha_2, \alpha_3, \beta_3, \beta_4) + L(\alpha_3, \alpha_4, \beta_2, \beta_3)) \\
&\quad + (-\omega_1^2 \omega_3^6 + 2\omega_1^4 \omega_3^4 - \omega_1^6 \omega_3^2) L(\alpha_2, \alpha_4, \beta_2, \beta_4) \\
&\quad + [(\omega_1^5 \omega_3^4 - \omega_1^3 \omega_3^6) (y_{12}^1(1) + y_{33}^1(1)) + (\omega_1^4 \omega_3^5 - \omega_1^6 \omega_3^3) (y_{13}^1(1) + y_{32}^1(1))] L(\alpha_2, \alpha_4, \beta_3, \beta_4)
\end{aligned}$$

$$\begin{aligned}
d_{14}^8 &= (\omega_1^5 \omega_3^3 + 2\omega_1^4 \omega_3^4 + \omega_1^3 \omega_3^5) (L(\alpha_2, \alpha_3, \beta_3, \beta_4) + L(\alpha_3, \alpha_4, \beta_2, \beta_3)) \\
&\quad - (\omega_1^6 \omega_3^2 + \omega_1^3 \omega_3^5 + \omega_1^5 \omega_3^3 + \omega_1^7 \omega_3^6) (L(\alpha_3, \alpha_4, \beta_1, \beta_4) + L(\alpha_1, \alpha_4, \beta_3, \beta_4)) \\
&\quad + (\omega_1^6 \omega_3^2 - 2\omega_1^4 \omega_3^4 + \omega_1^2 \omega_3^6) L(\alpha_2, \alpha_4, \beta_2, \beta_4) \\
&\quad + [(\omega_1^5 \omega_3^4 + \omega_1^6 \omega_3^3) (y_{13}^1(1) + y_{41}^1(1)) + (-\omega_1^3 \omega_3^6 - \omega_1^4 \omega_3^5) (y_{11}^1(1) + y_{43}^1(1))] L(\alpha_3, \alpha_4, \beta_2, \beta_4) \\
&\quad + [(\omega_1^4 \omega_3^5 - \omega_1^6 \omega_3^3) (y_{13}^1(1) + y_{42}^1(1)) + (\omega_1^3 \omega_3^6 - \omega_1^5 \omega_3^4) (y_{12}^1(1) + y_{43}^1(1))] L(\alpha_2, \alpha_4, \beta_3, \beta_4),
\end{aligned}$$

$$\begin{aligned}
d_{24}^8 &= (\omega_1^5 \omega_3^3 - 2\omega_1^4 \omega_3^4 + \omega_1^3 \omega_3^5) (L(\alpha_2, \alpha_3, \beta_3, \beta_4) + L(\alpha_3, \alpha_4, \beta_2, \beta_3)) \\
&\quad + (\omega_1^6 \omega_3^2 - \omega_1^3 \omega_3^5 - \omega_1^5 \omega_3^3 + \omega_1^7 \omega_3^6) (L(\alpha_1, \alpha_4, \beta_3, \beta_4) + L(\alpha_3, \alpha_4, \beta_1, \beta_4)) \\
&\quad + (-\omega_1^6 \omega_3^2 + 2\omega_1^4 \omega_3^4 - \omega_1^2 \omega_3^6) L(\alpha_2, \alpha_4, \beta_2, \beta_4) \\
&\quad + (-\omega_1^6 \omega_3^2 + \omega_1^5 \omega_3^4) y_{23}^1(1) + (\omega_1^4 \omega_3^5 - \omega_1^3 \omega_3^6) y_{21}^1(1)] L(\alpha_3, \alpha_4, \beta_2, \beta_4) \\
&\quad + (\omega_1^6 \omega_3^2 - \omega_1^4 \omega_3^4) y_{42}^1(1) + (\omega_1^3 \omega_3^6 - \omega_1^5 \omega_3^4) y_{43}^1(1)] L(\alpha_2, \alpha_4, \beta_3, \beta_4),
\end{aligned}$$

$$\begin{aligned}
d_1^7 &= d_1^7 + \{-\omega_1^4 \omega_3^5 [2y_{13}^2(1) + 2y_{21}^2(0) + 2y_{32}^2(0) + y_{43}^2(0) + y_{33}^2(0) + y_{42}^2(0)] \\
&\quad + \omega_1^5 \omega_3^4 [-y_{31}^2(0) - y_{43}^2(0) + y_{33}^2(0) + y_{41}^2(0)] \\
&\quad + \omega_1^6 \omega_3^3 [2y_{23}^2(1) + 2y_{23}^2(1) + y_{31}^2(1) + y_{42}^2(1) + y_{32}^2(1) + y_{41}^2(1)]\} + L(\alpha_2, \alpha_3, \alpha_4, \beta_4) \\
&\quad + \{-\omega_1^4 \omega_3^5 [2y_{11}^2(1) + 2y_{23}^2(0) + y_{32}^2(1) + y_{43}^2(1) + y_{33}^2(1) + y_{42}^2(1) \\
&\quad + y_{11}^2(1) y_{32}^1(1) + y_{11}^2(1) y_{42}^1(1) + y_{32}^2(1) y_{43}^1(1) + y_{11}^2(1) y_{33}^1(1) + y_{11}^2(1) y_{42}^1(1) + y_{33}^2(1) y_{42}^1(1)] \\
&\quad + \omega_1^5 \omega_3^4 [y_{13}^2(1) + y_{43}^2(1) - y_{33}^2(1) - y_{41}^2(1) + y_{12}^2(1) y_{31}^1(1) + y_{12}^2(1) y_{43}^1(1) \\
&\quad + y_{31}^2(1) y_{43}^1(1) - y_{12}^2(1) y_{33}^1(1) - y_{12}^2(1) y_{41}^1(1) - y_{33}^2(1) y_{41}^1(1)] \\
&\quad + \omega_1^6 \omega_3^3 [2y_{13}^2(1) + 2y_{43}^2(0) + y_{31}^2(1) + y_{42}^2(1) + y_{32}^2(1) + y_{41}^2(1) \\
&\quad + y_{13}^2(1) y_{31}^1(1) + y_{13}^2(1) y_{42}^1(1) + y_{31}^2(1) y_{42}^1(1) + y_{13}^2(1) y_{32}^1(1) + y_{13}^2(1) y_{41}^1(1) \\
&\quad + y_{32}^2(1) y_{41}^1(1)]\} L(\alpha_4, \beta_2, \beta_3, \beta_4)
\end{aligned}$$

$$\begin{aligned}
d_4^7 &= d_4^7 + \{-\omega_1^3 \omega_3^6 [y_{11}^2(0) + y_{22}^2(0) + 2y_{33}^2(0) + 2y_{43}^2(1) + y_{12}^2(0) + y_{21}^2(0)] \\
&\quad + \omega_1^4 \omega_3^5 [y_{13}^2(0) + y_{21}^2(0) - y_{11}^2(0) - y_{23}^2(0)] \\
&\quad + \omega_1^5 \omega_3^4 [y_{12}^2(0) + y_{23}^2(0) + 2y_{31}^2(0) + 2y_{43}^2(1) + y_{13}^2(0) + y_{22}^2(0)]\} L(\alpha_2, \alpha_3, \alpha_4, \beta_4) \\
&\quad + \{-\omega_1^3 \omega_3^6 [y_{11}^2(1) + y_{22}^2(1) + 2y_{33}^2(0) + y_{43}^2(1) + y_{12}^2(1) + y_{21}^2(1) + y_{43}^2(1) \\
&\quad + y_{11}^2(1) y_{22}^1(1) + y_{11}^2(1) y_{43}^1(1) + y_{22}^2(1) y_{43}^1(1) + y_{12}^2(1) y_{21}^1(1) + y_{12}^2(1) y_{43}^1(1) + y_{21}^2(1) y_{43}^1(1)] \\
&\quad + \omega_1^4 \omega_3^5 [y_{11}^2(1) + y_{23}^2(1) - y_{13}^2(1) - y_{21}^2(1) + y_{11}^2(1) y_{23}^1(1) + y_{11}^2(1) y_{42}^1(1) - y_{13}^2(1) y_{21}^1(1) \\
&\quad - y_{13}^2(1) y_{42}^1(1) - y_{21}^2(1) y_{42}^1(1)] + \omega_1^5 \omega_3^4 [y_{12}^2(1) + y_{23}^2(1) + y_{13}^2(1) + y_{22}^2(1) + 2y_{33}^2(0) + 2y_{41}^2(1) \\
&\quad + y_{12}^2(1) y_{23}^1(1) + y_{12}^2(1) y_{41}^1(1) + y_{23}^2(1) y_{41}^1(1) + y_{13}^2(1) y_{22}^1(1) + y_{13}^2(1) y_{41}^1(1) \\
&\quad + y_{22}^2(1) y_{41}^1(1)]\} L(\alpha_4, \beta_2, \beta_3, \beta_4).
\end{aligned}$$

Now, in the case when the boundary conditions are first order quasi-regular, we find the asymptotics of the roots of the equation $\Delta(\lambda) = 0$. For that in the half-strip $\Pi_1(\lambda)$ we give a theorem for the asymptotics of the roots of the equation $\Delta_1(\lambda) = 0$.

Theorem 1.2 Assume that the coefficients of equation (1) and boundary conditions (2) satisfy the following conditions:

$$\operatorname{Re} p_i > 0 \quad (i = 1, 2), \quad a(x), b(x) \in C^1[0, 1],$$

$$L(\alpha_3, \alpha_4, \beta_3, \beta_4) = 0, \quad L(\alpha_3, \alpha_4, \beta_2, \beta_4) = 0, \quad L(\alpha_2, \alpha_4, \beta_3, \beta_4) = 0,$$

$$L(\alpha_2, \alpha_3, \alpha_4, \beta_4) \neq 0, \quad L(\alpha_4, \beta_2, \beta_3, \beta_4) \neq 0.$$

Satisfying $L(\alpha_2, \alpha_4, \beta_2, \beta_4)$, $L(\alpha_2, \alpha_3, \beta_3, \beta_4) + L(\alpha_3, \alpha_4, \beta_2, \beta_3)$ if one of the expressions $L(\alpha_3, \alpha_4, \beta_1, \beta_4) + L(\alpha_1, \alpha_4, \beta_3, \beta_4)$ differs from zero, then far from the vicinity δ of the eigennumbers of the spectral problem, the Green function has the following estimation:

$$|G(x, \xi, \lambda)| \leq \frac{M}{|\lambda|^2}, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_p \quad (p = \overline{1, 8})$$

So, for the asymptotics of eigennumbers of problem (1), (2) the following formula is valid:

$$\lambda_{k\nu} = -\frac{1}{2\omega_k} \left\{ \ln \left| \frac{\pi\nu A_k}{\omega_k} \right| + i \left[2\pi\nu + \frac{\pi}{2}(2 - \operatorname{sgn}\nu) + \arg A_k \right] \right\} + O\left(\frac{|\ln|\nu||}{\nu}\right), \quad k = 1, 2,$$

$$k = 1, 2, \quad (-1)^k \nu \rightarrow +\infty,$$

$$A_1 = -\left(\frac{d_4^2}{2d_4^9 d_{14}^8} - \frac{d_{24}^8}{(d_4^9)^2} - \frac{d_4^7}{2d_{14}^8}\right)^{-1}, \quad A_2 = \frac{d_4^9}{d_{14}^8}.$$

Proof. Now within the conditions of the theorem we find the asymptotics of the eigennumbers of problem (1), (2). For finding the asymptotics of eigennumbers, at first consider the set $\Pi_1(\lambda)$ located in the first half-plane of the complex plane λ . In the semi-strip $\Pi_1(\lambda)$ we write the expression $\Delta_1(\lambda)$ being the principal part of $\Delta(\lambda)$:

$$\Delta_1(\lambda) = D_{14}(\lambda)e^{\lambda(\omega_1 + \omega_4)} + D_{24}(\lambda)e^{\lambda(\omega_2 + \omega_4)} + D_4(\lambda)e^{\lambda\omega_4}.$$

Within the theorem conditions we write the expressions $D_{14}(\lambda)$, $D_{24}(\lambda)$ and $D_4(\lambda)$ as follows

$$D_{14}(\lambda) = d_{14}^8 \lambda^8 + O(\lambda^7),$$

$$D_{24}(\lambda) = d_{24}^8 \lambda^8 + O(\lambda^7),$$

$$D_4(\lambda) = d_4^9 \lambda^9 + d_4^8 \lambda^8 + d_4^7 \lambda^7 + O(\lambda^6).$$

Taking into account these expressions in the equation $\Delta_1(\lambda) = 0$

$$\left[d_{14}^8 + O\left(\frac{1}{\lambda}\right) \right] e^{\lambda\omega_1} + \left[d_{24}^8 + O\left(\frac{1}{\lambda}\right) \right] e^{\lambda\omega_2} + \left[d_4^9 \lambda + d_4^8 + d_4^7 \frac{1}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \right] = 0. \quad (1.3)$$

$$D^{\frac{1}{2}} = d_4^9 \lambda + d_4^8 + \frac{d_4^9 d_4^7 - 2d_{14}^8 d_{24}^8}{(d_4^9)^2} \frac{1}{\lambda} + O\left(\frac{1}{\lambda^2}\right).$$

We write the asymptotic expressions of the roots of equation (3):

$$e^{\omega_1 \lambda} = \frac{1}{2d_{14}^8 + O\left(\frac{1}{\lambda}\right)} \left[-\left(d_4^9 \lambda + d_4^8 + d_4^7 \frac{1}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \right) \pm D^{\frac{1}{2}} \right] \quad (1.4)$$

$$e^{\omega_1 \lambda} = \left(\frac{d_4^7}{2d_4^9 d_{14}^8} - \frac{d_{24}^8}{(d_4^9)^2} - \frac{d_4^7}{2d_{14}^8} \right) \frac{1}{\lambda} + O\left(\frac{1}{\lambda^2}\right), \quad \lambda \in \Pi_1(\lambda), \quad |\lambda| \rightarrow \infty. \quad (1.5)$$

We can easily see that $O(e^{\omega_2 \lambda}) = O(1)$, $\lambda \in \Pi_1(\lambda)$ $|\lambda| \rightarrow \infty$. We can write formulas (4) and (5) in the following form

$$\begin{aligned} A_k \lambda e^{\omega_k \lambda} + 1 + O\left(\frac{1}{\lambda}\right) &= 0, \quad k = 1, 2 \\ A_1 &= \left(\frac{-d_4^7}{2d_4^9 d_{14}^8} + \frac{d_{24}^8}{(d_4^9)^2} + \frac{d_4^7}{2d_{14}^8} \right)^{-1}, \\ A_2 &= \frac{d_4^9}{d_4^8}. \end{aligned}$$

Using any of the methods from [2], [3], [4], we can get the asymptotic formulas of the roots of the equation determined by formula (4), (5)

$$\begin{aligned} A_k \lambda e^{\omega_k \lambda} + 1 &= 0, \quad k = 1, 2 \\ \lambda_{k\nu} &= -\frac{1}{2\omega_k} \left\{ \ln_0 \left[-A_k \alpha_\nu \frac{-\pi i \nu}{\omega_k} \right] + 2\pi i \nu \right\}, \\ \alpha_\nu &= 1 + \frac{\ln|\alpha_\nu|}{2\pi i \nu} + O\left[\frac{\ln|\nu|}{\nu} \right], \end{aligned} \quad (1.6)$$

hence we get

$$\ln_0 \alpha_\nu = O\left[\frac{\ln|\nu|}{\nu} \right]. \quad (1.7)$$

Taking into account formula (7) in (6), we get an asymptotic formula for the roots of equations (4) and (5):

$$\lambda_{k\nu} = -\frac{1}{2\omega_k} \left\{ \ln \left(\left| A_k \frac{\pi}{\omega_k} \nu \right| \right) + i \left[2\pi \nu + \frac{\pi}{2} (2 - \operatorname{sgn} \nu) + \arg A_k \right] \right\} + O\left[\frac{\ln|\nu|}{\nu} \right], \quad (-1)^k \nu \rightarrow +\infty.$$

In the same way, we can show that the last formula is valid in the complex plane λ .

Now, within the theorem's conditions estimate the Green function outside of the vicinity of δ of the eigennumbers.

For making estimations at first we consider the sector S_1 .

It is easy to see that for $\lambda \in S_1$ the following inequality is valid

$$\operatorname{Re} \lambda \omega_3 \leq \operatorname{Re} \lambda \omega_2 \leq 0 \leq \operatorname{Re} \lambda \omega_1 \leq \operatorname{Re} \lambda \omega_4, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_1.$$

Multiplying the second, third, fourth and fifth columns of the determinant $\Delta(x, \xi, \lambda)$ by the functions $-\frac{1}{2}z_1(\xi, \lambda)$, $\frac{1}{2}z_2(\xi, \lambda)$, $\frac{1}{2}z_3(\xi, \lambda)$ and $-\frac{1}{2}z_4(\xi, \lambda)$, adding it to the first column, we find the elements of the first column as follows:

$$\begin{aligned} g^0(x, \xi, \lambda) &= \begin{cases} -z_1(\xi, \lambda) y_1(x, \lambda) - z_4(\xi, \lambda) y_4(x, \lambda), & 0 \leq \xi \leq x \leq 1, \\ z_2(\xi, \lambda) y_2(x, \lambda) + z_3(\xi, \lambda) y_3(x, \lambda), & 0 \leq \xi \leq x \leq 1, \end{cases} \\ b_q^0(\xi, \lambda) &= -z_1(\xi, \lambda) \sum_{k=1}^4 \beta_{qk} y_1^{(k-1)}(0, \lambda) + z_2(\xi, \lambda) \sum_{k=1}^4 \alpha_{qk} y_2^{(k-1)}(0, \lambda) \\ &+ z_3(\xi, \lambda) \sum_{k=1}^4 \alpha_{qk} y_3^{(k-1)}(0, \lambda) - z_4(\xi, \lambda) \sum_{k=1}^4 \beta_{qk} y_4^{(k-1)}(1, \lambda), \quad q = \overline{1, 4}, \quad \lambda \in S_1. \end{aligned}$$

Within the theorem conditions, the following estimations are valid

$$\left| \Delta(x, \xi, \lambda) e^{\lambda(\omega_1 + \omega_4)} \right| \leq M_1 |\lambda|^6, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_1, \quad M_1 = \text{const}, \quad (1.8)$$

$$\left| \Delta(x, \xi, \lambda) e^{\lambda(\omega_1 + \omega_4)} \right| > N_\delta |\lambda|^8, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_1, \quad N_\delta = \text{const}. \quad (1.9)$$

Using inequalities (8) and (9), we get

$$\left| \frac{\Delta(x, \xi, \lambda)}{\Delta(\lambda)} \right| \leq M |\lambda|^{-2}, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_1, \quad M = \text{const}, \quad (1.10)$$

where λ is valid when the eigennumbers are outside of the vicinity of δ .

In the same way we can show that in the sectors S_p ($p = \overline{2, 7}$), inequality (10) is valid. So, the following estimation for the Green function of the eigennumbers outside of the vicinity of δ is valid:

$$|G(x, \xi, \lambda)| \leq \frac{M}{|\lambda|^2}, \quad |\lambda| \rightarrow \infty, \quad \lambda \in S_p \quad (p = \overline{1, 8}).$$

The theorem is proved.

Acknowledgment

The authors are thankful to the referee for his/her valuable comments.

References

1. Rasulov, M.L.: The contour integral method. *Nauka, Moscow*, 458 p. (1964).
2. Zhdanovich, V.F.: *Formulas for the zeros of Dirichlet polynomials and quasi polynomials*. Dokl. Akad. Nauk SSSR, **135** (5), 1046-1049 (1960).
3. Lidskiy, V.B., Sadovnichii, V.A.: *Asymptotic formulas for the roots of a class of entire functions*. Mat. Sb., **75** (117), (4), 558-566 (1968).
4. Sadovnichii, V.A., Lyubushkin, V.A.: Belabassi Yu. On the zeros of a class of entire functions. *Proc. of I.G.Petrovsky seminar. M.*, issue 8, 211-217 (1982).
5. Mamedov, Yu.A.: *On Sturm-Liouville problem in the case of complex density*. Vestnik Bakinskogo Gosudarstvennogo Universiteta. Ser. fiz. mat. Nauk, (1), 133-142 (1988).
6. Federyuk, M.V.: *Asymptotic methods for linear ordinary differential equations*. M. Nauka, 352 p. (1983).
7. Mamedov, Yu.A., Mastaliyev, V.Yu.: *On solvability of mixed problems for a new class of equations that may go over from parabolic type into antiparabolic one*. Vestnik Bakinskogo Gosudarstvennogo Universiteta. Ser. fiz. mat. Nauk, (1), 133-142 (1988).
8. Mamedov, Yu.A., Ahmedov, S.Z.: *Investigation of characteristic determinant connected with the solution of a spectral problem*. Vestnik Bakinskogo Gosudarstvennogo Universiteta. Ser. fiz. mat. Nauk, (1), 133-142 (1988).
9. Mamedov, Yu.A., Nagiyeva, R.I.: *Mathematical analysis of critical problems of electrodynamics*. *Baku, Elm*, 181 p. (2010).
10. Ahmedov, S.Z., Abbasova, A.Kh., Aleskerova, S.Z.: *Solution of a mixed problem for a fourth order partial differential equation by the contour method*. *Application fields of ICT. Mathematics and International Conference*. 05-06 June, Ganja, 155-157 (2014).
11. Ahmedov, S.Z., Aleskerova, T.: *Construction of fundamental solutions of λ complex parameter dependent fourth order equation*. News of BSU, (1), 70-77 (2012).